64 SUGHTSUNE

RECESSED PULL © 4] HH-KL160

[COMPONENT "
« Ideal for harsh and high corrosive environments.
« Compliant with SEMI S8-0600 guideline.
« Spacer for sheet metal application sold separately.

EE)

105 f:
o7 5q ,,,,,,,,,, o) r(% 4&1‘}

Spacer /

N (Optional : BSP-8)

L
>
=
»)
-
m
o
g
Cc
r
r
(7))
Qo0
A
o
W
(7))

LA Sheet metal mounting application
i - § y - _lo.s Hole
| | ) W, /2-08
§ ik oy - B
i N .
2 - 110
5] 218 180
(55/64")
Cut Out Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-KL160 260 8 48 304 Stainless Steel Satin
A
& RECESSED PULL ® e =|  HH-KP150
RoHS =
(7))
(72} o .
m 132 « Compliant with SEMI S8-0600 guideline.
o (5-13/64")
113
g T (429/64") ‘
N Hole !
- 106\ 3
- X ‘ | 115 )
(7)) g g | =
' 5 505 o on | ®
&
152 g N 5 L
(5-63/64") < Q 132
{v £z e \\ 3 _ (5-13/64")
;@, [ B i 3 . g 9 EE Cut Out Dimensions
vl 1 —|= 080|925
UG s He T8
; & &l¥l g = e
& 3
>
& 1114 &7 \amsxos
& (4-25/64") (Copper plated steel)
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-KP150 390 5 50 304 Stainless Steel Satin
RECESSED PULL © | | HH-FB, HH-FC
[COMPONENT & 2
=]
o w—I 1
oaT
o m—¢ i
4-045 /
¢ V ' Cut Out Dimensions
3 rfEr L TET T 1 No.| PartName | Material [ Finish
£ &L I | dE @ Front Plate
- iR [ ]@&J l bl [ )@,J j @ | Back Cover St:;gl‘;ss Mirror (M)
® M4 Stud Steel Satin (S)
HH-FB HH-FC ® M4 Nut
Item No. Stud/Nut (L1) L2 Ls (H1) Hz Hs Ha P4 P2 (P3) Weight (g)
HH-FB-1/M | HH-FB-1/S | M4 Stud
HH-EC/M | AHFC-1/S | Ma Nut 138.0 | 96.0 99 88 62 21.0 64 110 65 11.5 170
HH-FB-2/M | HH-FB-2/S | M4 Stud
HH-FC2M | AH-FC2/S | Ma Nut 109.5 | 67.5 73 64 40 14.5 42 88 38 13.0 100
HH-FB-3/M | HH-FB-3/S | M4 Stud
HH-FCa/M| AH-FC3/S | M4 Nut 94.0 | 61.0 63 60 43 12.0 45 76 32 14.5 80
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)





